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1. Please calculate =+==7? (A) = B) — C) — D) —
) 2 7 ()9 ()14 ()12 ()14

( D )2. 900-+25-+4x7 Which of the following formula is equal ?

BT -

( B

BT -

(A) 900+ (25+4x7) (B) 900+25+(4x7)
(C) 900+(25x4)~+7 (D) 900+(25x4)x7

#5E - 900+25+4x7 AN EH—BEIEE <

O R =36+4x7=9x7=63 * @ (D) 900-+-100x7=9x7=63

) 3. 25, 32 and 37 three numbers, Which number has most factor ?
(A) 25 (B) 32 (C) 37 (D) same

#5E : 250 32§01 37 E=1@% * B—EHNRAZS <

O 25HFAABE 1525 H 3@ :

Q RHRFEL1-2-4-8-16~32H61@:

Q@ ITHEREHE 137 H 2@ .. 3E(B)

( C )4 LER—BSEXE 2070 SE@RE 2570 ARITE %

220}

(A) 5 (B) 20 (C) 25 (D) 50

25-20 5 25
20 20 100

» (0
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( D )5 GE/ESK : #BRE 847D NMIBEENILUKS
REERDHES

7

(A) (32—-8x3.14)cm®  (B) (32—-16x3.14) cm? & /
(C) (32-4x3.14) cm® (D) (64—16x3.14) cm”

BEAT - PTKR=IEOF—BR/=8x8—4x4x3.14 » .". 3£(D)

( B )6 BR  CMEROEHRSETR  HPPHRD 8520 BR300 L
7 CHIRA 85 RN B 40 A7 WB(—)PTR » SIKEREHRRA
ABHEEVARR - AEPTEMINEBE I ECRBHNB (Z)8IKRSoH ABCD » BI'F

SIE—EEIETRER ADBIRE ¢
A

30 40
85 qa 85 Z ......
B
B(—) | B(—)
(A) 770 (B) 800 (C) 810 (D) 980

BENT © 4D=n(30+40)+30=70n+30
= AD = +708530 » 800=70x11+30 » .". 3&(B)

( D )7. EZ2FH—ERAR 150° ' SELEZ 2R ESREN <
(A) 7% (B) /N\ (C) + (D) +=

BEAT : (D 180° —150° =30° > () 360° +30° =12

( C )8 WEBNENELESDNMBES0ESE -
XEESLNSVFEIAR «

(A)320  (B)340  (C)360 (D) 380 200

BRHT : 12x15x2=360cm?
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( B )9 CBEBEREBEN  EixREEBH  WIREEBE

FERERE 48 A% » ACR 12 A7 » IEEERD

DEFTRG 7
(A) 36 (B)108  (C)54 (D) 216

fR4T : 48—15—15=18 ’ 18x12+2=108cm?

( C )10. EENBERSD m’e

Om
(A) 4120 = \6
(B) 4220 "
6m’ 6m
(C) 4320
15m 15m
(D) 4420

BEMT : 15x6x21=1890 * 15x6%x12=1080 * 15x15%x6=1350 *
1890+1080+1350=4320m?

( B )11. 52T 6A NESREBNREMEEK - WR
EBHENE 18 A SEBENHBHRA <
(A) 15 A (B) 12 A
(C)10 A (D)9 A

135 90
BT D 18+ —==48 A > 48 x —— =12 )
@ 360~ A 1@ 4Bx =124
( A )12. Q0B » KIPEREEEE 1200 20cm 20cm
[Ocm S 2 10cm
YR BERXKERIS s — & N P i -
ERBOAR * gom| g€ :
(A) 12 (B) 13
(C) 14 (D) 15
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BEMT : (D 10x20%x18-1200=3600—1200=2400

(

BB -

(

BT -

(

BT -

(

C

A

B

C

2 2400+20-+10=12 A

) 13. KPE—% 2300 JtHIIREE @ #BIREHIX R—BTHEN 3 Fh BT

2 KDY ER—BTiE:s (A6 (B)7 (©)8 (D)9

100x X +500x3=2300 > 100x X +1500=2300 °

100x X =800 * X’ =800-+-100 > X =8

)M.E—%im’H$E%%%%%ﬁ@’ﬁﬁﬁﬁwg%ﬁ%wﬁ’ﬁﬁ

INEREEE 200 NE) @ ERTIHBEEERNE <
(A) 400 (B) 420 (C) 440 (D) 450

200 + (% X %) =400 ~WA

) 15. HISEBT—IREE 432.5 L AR L BIBETS 4 BEEE
RIBEMEFH—EEE 32.25 LHARNPRER  8REFMG
WEEESIDWFLAR ©
(A)100.625  (B)100.0625 (C)100.00625 (D) 100.000625

432.5—32.25=400.25 » 400.25+4=100.0625 LR

)m.@EMEE@W%$’%—%%§§%%’%Z%%ﬁém

%@%%%’%%ﬂ$6555ﬁ%’%$%—%ﬁ%®5?

(A) 260 (B) 280 (C) 300 (D) 320
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1 65+E:65x%:300 =]

BRAT: 65+ (15— —£)=65+

W=
IR

( D )17. EEHE 87 A—8 EESEHRS A B8 A—& BB E3

AN B12 \—80 RESEAE7 A BERIENEZDA

(A) 156 (B) 160 (C) 168 (D) 173
BiT: 2|7 8 12
2|7 4 6 2x2X7x2%x3=168 * 168+5=173 A
7 2 3

( B )18. EEASWEFREMBIL » BIEEE (24 (—AH)
o e | e . | R 30 &

U BERS B ABORE - |
E R0 50 TSEMELS - NEIME | debl-70 &

X 2 HE 20
oK EE BN MELR » BINREREZEEI0 & %

| T H A 6  &
B \RURBHE ©

(A) 20 (B) 21 (C) 22 (D) 23
BT - O JNAD 0 BIEEIHE 20x6=120 72 °
@ BEDIA 5052 » BIEEENA 120-50=70 72 °

20 SEMET RIS 6 /)\2 > 8 % «6-21 \2

( A )19. WBEE > BR20A27D ~ B 15 XDNRAF
A BER—BLESFE - IRBHE—EF%
INIESH » BB2ZDRMA ©
(A)12 (B)14 (C)16  (D)18

BT 5020 15
4 3 5x4x3=60° 60+20=3* 60+15=4 + 3x4=12 3
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( C

BT -

( A

BT -

( A

BT -

) 20. GBPHXFISEORFEE » 502812 1080 818 O
\SEA / \6B LA/
N0 3@A > ZD22IBIIREO » KIFEFEER
FEEe (A4 (B)5 (C)6 (D)8 £\
O " BEMEE .. OB ANEEL=2":1
@ 2:1=[1:3"[]=3+1x2=61@

) 21. FLILRB—{E) > 33IRTE 2 ~ 4 ~ 5 BFEPLIRMBRIEN - AREARAREY

22 BIHE ZHE2HE ZE3HE F4HE E5HE

1 2 4 8 16
3 3 5 9 17
5 6 6 10 :
7 7 7 11
9 10 12 12
11 11 : :
17

(A) 26 (B) 27 (C) 28 (D) 29

2+8+16=26

) 22. —BI5%=0HE 50 8 - AREAYDIGEE » FTLIZENzS 658 #T
MR D EEIBEEE 458 AT NBIG DT BEAH
AE 30 A P BEAZTREa A b A B at+b= <
(A) 28 (B) 29 (C) 30 (D) 18

@ 50MALNE 12510~ 2550 50-6=44 :

Q@ 44BREE 1241122 44> 44—4=40 :

Q 408RFHE1-2-4-5-8-10~20"40:

@ AEUE 40 BIREN » (B EER 50 BX 44 IR > FTI24HE 8 AT 20 A :

& a+b=8+20=28
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( C )23 BERBEFHNIL 1911 MB0E7TFH - HIU - KB 80 & FEITilE
80+1911=1991 F » SHEREFIT 2015 F * FE ML _1ESD <
(1) B—TR (IR) FHERIBORE—I
(2] IBEEHFRLE 4
(3] SA%&N0L 20
(4] BB3REA 25
(5] #ESEINEHEENLL ]
(6] RB—ETR > FEBEHEREIM (IR) BENI—IGTE
RAEM (R B—E={IENEF  E—EHZEIR (W) F
HESRIROURE NI - B TIRAMEMR (IR) OERREE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT DFESRISREB I X =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ ]=2015 [ 1=1515

( A )24. 9B » BCEF B¥4JIG:EF - =B ABC 2—1@
EB=A'BCR8AD'ACRT7TAD ' EX
O BERELL =B ADH HBEEAX 12 FHAD
KHCIRE -
(A5 (B)45AD (C)6xd  (D)5.547D

BEMT © a+b=c+12 > a+b+d=c+d+12 > F D/KH E
a / b
BCEF Bf&a=BfBAABC+12=8x7+2+12=40 %
BCxHC=40 * 8xHC=40 * HC=5 7 B {
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( B )25 749 BBEME—RUR PO ARIERRA - #i5T 37 RERZH

ERE PEISE 2BI10E

EURIERZERT

RS 128 -

PEDBEZDERET

(A) 4 (B)5 (C)6 (D)7
BT O URPZ1IE > PI6E ARAIUE > H23F - BIPAEE
QURPZ2E => PBITE - ARAII0E > A2 R HIFPAEE
B WRPZ3IE => PIBRE A IE = A21F ' QPSR
@ URPZA4E > BI9F AI8E > F20 R HIPAEE
GO URPZEE => P20E - AI7E > RI9OR HIFEE

_ - 5t8&E (& 257)
1. FRIYEES0EE - Bl —

BRBDTITAR 7

BRAT ¢ (20+32)x24+2=624
12x12=144
624—144=480
480x4+144=2064

& : 2064 ST AD
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2. EEHRE—EBIHONAT : BEBNB AR MEEZEN - BSmiEEEEREs
HAMESR - piSEIEE - & :
O EENEBR 9/ 238 wHEiEE2D * (1049)
Q@ BIEE 210 WHHATEEWEX = (157)

BEMT : (D 9=2+7 » 2x7x23=322
(2 210=2x3x5x7=2x5%x21 — 2+5=7'7H21H
=2x7x15 — 2+7=9° 93 158
=3x5x14 — 3+5=8' 83 14 5
=3x7x10 — 3+7=10°" 108 10
=5x7x6 — 5+7=12> 128568
&1 322

@ 7B21H°8H14H°9H815H10B10H 128 6H
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